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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R
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P3-12

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR
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P3-12
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07:55 152 60.0 FA| 1Ri&@07:55 B (KAHEREE)
08:30 152 60.0 (Z=| {Ri%@08:30 Bzl (RAMEESE)
09:05 152 60. 0 B Ri&@09:05 Bz (REEESE)
09:40 152 60.0 BE| 1Ri%e09:40 B3 (RF{EREE)
10:15 152 60.0 RS {Ri&e10:15 Bz (REERSR)
10:50 152 60.0 el Ri&@10:50 Bzl (REAEHE)
11:35 152 60.0 BE| Rige11:35 Bz (REAERSE)
12:35 152 60.0 | Rige12:35 Bal (REAEESE)
13:35 152 60. 0 5| {BRige13:35 B3 (RPERKS)
14:20 152 60. 0 B 1Ri%e14:20 B3 (GGREMEESE)
14:55 152 60.0 S| 1Rige14:55 Bzh (REEER)
15:45 152 60.0 B Rige15:45 Han (REAERSE)
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P3-12

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:05 190 50. 0 RS 1Ri&@07:05 Fzi (REEESE)
07:45 190 50.0 RS {Ri8e07:45 Fzy (REEHSE)
08:25 190 50.0 s {Ri&e08:25 Fx (FREEEHE)
09:05 190 50.0 BE| {Ri&@09:05 Fz (REAEHE)
09:50 190 50. 0 RS {Ri%@09:50 Fzf (REEEE)
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15:15 190 50. 0 B 1Rige15:15 Fzh (REEZRESER)
16:05 190 50.0 el 1Rige16:05 Fz (REZES®R)
=21t 2660.0 (14)%) 700. 0 3EGHKEC: 2080.0, PH: 6.0

TERRHER 2 STEELRT (124.0 :

PRIASLPRIEBRE89. 0 ml.

large discrepency for begining water status (111:198.0), set to 111 ml.

89.0), AIREAT—AE XAHE
LRGEREE (190) 5748 (106. 0) FF, FIREH T & REEIRS £ XER

REREEBIEC (2620.0) 5iZEEC (2000.0) RERK, HHE
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P3-12

BriE) | GEBERTIC (FD) | EBE (EH/K) | KR R

07:05 190 50.0 BS| 1Ri%e07:05 Fzh (kRFERESE)
07:45 190 50. 0 Bg| 1Ri%e07:45 Fz GREEREE)
08:25 190 50.0 | RE| {RiB@08:25 Fzh CkEEEE)
09:20 190 50. 0 BE| 1Ri%e09:20 Fzh (KRFERKSE)
10:15 190 50. 0 RS {Ri&e10:15 Fzf (REERE)
11:00 190 50.0 | RE| {Ri%@11:00 Fzh CGREAEESE)
11:50 190 50.0 | RE| {Rig@11:50 Fzh CGREAKESE)
12:40 190 50. 0 RE| 1Ri%e12:40 Fz CGREAERSE)
13:25 190 50.0 | 1Rige13:25 Fzh (REAERESE)
14:15 190 50.0 | 1Rige14:15 Fzh CGREAEESE)
14:55 190 50. 0 Bg| 1Ri%e14:55 Fz (REERSE)
15:40 190 50.0 B5| 1Ri%e15:40 Fz (REERE)
16:45 190 50.0 Bg| 1Ri%e16:45 F3) (KAL)
24t 2470.0 (13%) 650. 0 #2353 EC: 2080.0, PH: 6.0

TERRHER 2 STEELRT (124.0 :

PRIASLPRIEBRE89. 0 ml.

large discrepency for begining water status (102:168.0), set to 102 ml.

89.0), AIREAT—AE XAHE
LRGEREE (190) 5748 (106. 0) FF, FIREH T & REEIRS £ XER

BEXRIEMIEC (2610.0) 5iZXEEC (2000.0) wEFK K, HRE
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